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Ideals for irreducible component#ﬂ)f Xpar

I = (u®® — w202 - 1)

* 1 irreducible components of dim¢ = 0, with total 48 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIy=(u®—u" ... —2u% — 1)

(i) Arc colorings

w- (1)

ag —
a7 =
az =

a; =

—ud —ub —ut 41 >
2

(
(
(
(
ag = (uw —2u8 — 3u® — 2u* —u
(
(
(
(
(

u + 3ul? + 6ul0 + 7ud + 6ub + 4ut + 202 + 1
u14 + 2u12 + 3U10 + 2U8 _ ’U,Q
—udl —6u? + - — 18u° — 6u3
—u3t —5u? + -+ 2ud +u
B+ 2utt + 30+ 207 —
wl® + 3ut3 + 6ult + 70 + 6u” + 4u® + 2ud +u
—u3 —bhu® . 4 2u% + 1 )

as = \ —u3? — 6u30 + - — 18u’ — 6u
—utT — 8ut 4 -+ 18u° + 6u’
a1l = —U47+U46+"'—2U2—1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u®0 — 4u*® + ... +12u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq u® 17t o du 1
Co, C7 u48+u47+'~-—2u2—1
€3,C4,C5 ut® T 2y —1
€10, C11
Cs, C12 u'® — 5ut’ 4 -+ 4 100u — 39
Co u*® — 5ut” + - 4+ 912u + 1305




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,C6 y48+29y47+--~—16y—|—1
2,7 Y 1T T Ay 1

€3,C4,C5 y*® — 63+ Ay +1
€10, C11
cs, C12 y*® + 37y - 24632y + 1521

C 48 47
9 Y= —23y" 4 - - — 23246424y + 1703025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= 0.802127 + 0.5892141

—13.2341 — 6.65121

—8.69292 + 2.704991

= 0.802127 — 0.58921471

—13.2341 4 6.65121

—8.69292 — 2.704991

= —0.780450 + 0.5954121

—3.45383 + 5.146591

—7.86923 — 4.153401

= —0.780450 — 0.5954121

—3.45383 — 5.146591

—7.86923 + 4.153401

= —0.306787 + 0.9280441

—13.29560 — 2.745781

—13.24399 4 4.025871

= —0.306787 — 0.9280441

—13.29560 +- 2.745781

—13.24399 — 4.025871

= 0.744340 + 0.6097551

0.47988 — 2.414001

—2.77620 + 3.950171

= 0.744340 — 0.6097551

0.47988 + 2.414001

—2.77620 — 3.950171

= —0.709694 + 0.8053771

1.43993 — 0.103261

—4.11691 — 1.573011

= —0.709694 — 0.8053771

1.43993 4 0.10326.1

—4.11691 + 1.573011

= —0.019095 + 1.0776301

—5.06998 — 1.602111

—10.45738 4 4.051201

= —0.019095 — 1.0776301

—5.06998 + 1.602111

—10.45738 — 4.051201

= 0.750182 + 0.7797911

—7.19201 — 0.778351

—5.36224 + 0.068891

= 0.750182 — 0.7797911

—7.19201 + 0.778351

—5.36224 — 0.068891

= —0.669363 + 0.6045871

0.001527 — 0.5873021

—4.68221 + 4.093091

0.001527 + 0.5873021

—4.68221 — 4.093091

= 0.040819 + 1.1035301

—9.34090 + 4.196231

—14.8023 — 4.21421

= 0.040819 — 1.1035301

—9.34090 — 4.196231

—14.8023 + 4.21421

0.701243 + 0.8567501

3.68589 + 2.687231

1.90848 — 3.593261

= 0.701243 — 0.8567501

3.68589 — 2.687231

1.90848 4 3.59326.1

= 0.303851 + 0.8267871

—3.75546 + 2.276591

—12.89646 — 5.301281

= 0.303851 — 0.8267871

—3.75546 — 2.276591

—12.89646 + 5.301281

= —0.050388 + 1.1214001

—19.3092 — 5.59951

—15.3152 + 3.05241

= —0.050388 — 1.1214001

—19.3092 + 5.59951

—15.3152 — 3.05241

= —0.701027 + 0.9004921

1.15320 — 5.297931

—5.03627 + 7.684491

= —0.701027 — 0.9004921

1.15320 + 5.297931

—5.03627 — 7.684491

= —0.715058 + 0.4381371

—14.1380 — 3.79951

—9.38326 + 2.794741

= —0.715058 — 0.4381371

—14.1380 + 3.79951

—9.38326 — 2.794741

= 0.719743 + 0.9285821

—7.64175 + 6.354541

—6.48748 — 5.778611

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
u = —0.669363 — 0.6045871
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= 0.719743 — 0.9285821

—7.64175 — 6.354541

—6.48748 + 5.778611




Solutions to I}

V=1(vol + v=1C)

Cusp shape

0.672923 + 0.4737501

—4.26296 + 2.639531

—9.04168 — 4.046941

0.672923 — 0.4737501

—4.26296 — 2.639531

—9.04168 + 4.046941

0.620090 + 1.0272901

—5.75948 + 2.349421

—11.55550 — 1.528201

0.620090 — 1.0272901

—5.75948 — 2.349421

—11.55550 4 1.528201

u = —0.648633 + 1.0124601

—1.18407 — 4.579161

—6.64611 + 1.380241

u = —0.648633 — 1.0124607

—1.18407 + 4.579161

—6.64611 — 1.380241

u = —0.608868 + 1.0440101

—15.8277 — 1.21031

—12.22073 + 2.356991

u = —0.608868 — 1.0440101

—15.8277 + 1.21031

—12.22073 — 2.356991

0.668938 + 1.0239501

u =

—0.74329 + 7.813871

—4.00000 — 8.533661

u= 0.668938 — 1.0239501

—0.74329 — 7.813871

—4.00000 + 8.533661

u = —0.676813 + 1.0385701

—4.76998 — 10.660201

—9.85701 + 8.711101

u = —0.676813 — 1.0385701

—4.76998 + 10.660201

—9.85701 — 8.711101

u =

0.681817 + 1.0479901

—14.6043 + 12.23681

—10.70547 — 7.245311

u= 0.681817 —1.0479901

—14.6043 — 12.23681

—10.70547 4 7.245311

u = —0.545430

—10.6248

—6.00350

u = —0.257194 4 0.4800051

—0.181190 — 0.8681391

—4.26608 + 7.692731

u = —0.257194 — 0.4800051

—0.181190 + 0.8681391

—4.26608 — 7.692731

0.420030

u =

—1.58694

—4.88980




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce u®® 17wt o du 1
c2,C7 uB 4+t 22—
€3,C4,C5 u® T —2u—1
€10, C11
Cs, C12 u*® — 5uf” -+ 100w — 39
Co u® — 5u'" 4 - 4+ 912u + 1305




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o y® 29y - — 16y + 1
C2,C7 y B 1Tyt Ay 1
€3,C4,Cs ' — 63y + - Ay +1
€10, C11
cs; C12 y*® +37y" + - + 24632y + 1521
Co y48 o 23y47 4.

— 23246424y + 1703025




